Generating a table of values on the TI-82,83,84
Suppose we want generate a table of values for the function 
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 for the values 
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 in order to help us evaluate 
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To enter the function g, we must access the Y= screen. To get there, type Y= in upper left hand part of the keyboard. You will get a screen that looks like

\Y1 =

\Y2 =

\Y3 =

\Y4 =

Beside y1, enter (X^(1/3) – 1)/(
[image: image4.wmf](X)-1).  Remember that the variable used for entering all functions must be X. You should also use parenthesis carefully when entering this function. You should have something beside y1 looking like 

 \Y1 =  (X^(1/3) – 1)/(
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After the function is entered, you can quit this menu by typing Quit (2nd ESC).
We next want to set up the table parameters. To do this, we need the TBLSET menu, which is accessed by typing 2nd Window. You will see a window that looks like




TABLE SETUP




   TblStart = 0
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tbl = 1

                Indpnt: Auto  

    Depend:                     Ask

[image: image7.wmf]
When generating a table for arbitrary values, it is important to consider the Indpnt parameter. The Independent parameter gives the user two options. If Ask is entered, the user will have to input his or her own x values. If Auto is entered, the calculator will generate the table automatically.  For this problem, we will want to make sure Ask is specified. The Depend, when placed on Auto, will automatically generate the functional values when the X values are entered.  The Tblstart parameter represents the input x value where the table will begin (note that since we are specifying the x values ourselves, we do not have to worry with this value). 
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tbl represents how far the input x values in the table should be spaced. If x increased by 1 from one point to the next so we set 
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tbl  = 1. After these values are entered, you can press Quit (2nd Mode) to quit the TBLSET menu.

To see the table, press Table (2nd Graph). After entering the x values, you should have a table like the following:
	X
	Y1
	
	

	.5
	.70435
	
	

	.7
	.68627
	
	

	.9
	.6725
	
	

	.99
	.66722
	
	

	.999
	.66672
	
	

	1
	ERROR
	
	

	1.001
	.66661
	
	

	1.01
	.66611
	
	

	1.1
	.66136
	
	

	1.2
	.65649
	
	

	1.5
	.6439
	
	


Looking at the table, it appears that 
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